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E1 75, 092 70, 307 21,734 1, 041 21,756
5 /N F 44, 838 41, 245 15,138 392 7,762
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" 52 47 35 1 10
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i3 7,343 7,279 29 - 5
s % 6, 956 6, 873 5,291 6 1,479
1 18, 395 16, 612 5,401 236 4, 627
3Ya & 18,108 17, 624 4, 336 302 7,740
52 ViN 7,084 6, 875 1,178 115 3,123
e /N 4,922 4,543 1,072 229 3,127
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17,732 3,593 904 219 2,470
3, 641 444 52 21 371
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11 2 1 - 1
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309 1,111 33 40 1,038
4 967 28 36 903
305 144 5 4 135
3 12 - 2 10
7,272 147 23 22 102
7, 245 64 15 11 38
217 83 8 11 64
6,170 1,783 784 129 870
5, 241 484 86 50 348
2,455 209 51 16 142
101 379 56 36 287
3 120 1 1 118
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